X*E

[hE—F4 3 AT
50A LA EUVESA 1] (HEE B R H
OO LTI, 220HdE2 LT OIC ZZAxHhEFL LD,
ORVDHLITHSE. 2ZA0HTZUVWT.LIC TcZAEDHIELL LD,
®
+ 4 8 0
8
6
5
3
0
@
— :
4
9
7
2
1
E A&7 ) BN

studywith.net =¥



[hFE—FE B

50RAfcLEA EVEEA [1]

fi

ORYDHFIC, 2ADHTZ LT LIS ZfcAZ hEFL LD,
ORYDHITHE. DADHNTZ UOWT. LIC ZfcAZz hEEL & D,

®

+ 9 4 8 5
811 15 13 17 12 16 9 10 14 8
6|9 13 11 15 10 14 7 8 12 6
5|8 12 10 14 9 13 6 7 11 5
3/!6 10 8 12 7 11 4 5 9 3
03 7 5 9 4 8 1 2 6 0
@

N 1 16 10 16 :
4113 10 12 6 14 9 8 11 15 7
9|8 5 7 f 4.3 6 10 2
7110 7 9 3 11 5 8 12 4
2|15 12 14 8 16 11 10 13 17 9
1116 13 15 9 17 12 11 14 18 10

227 g

studywith.net [E="#



